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Answer either in English or in Bengali.

1. a) What is meant by ‘ aparoksatvam


’ in the definition
‘ jnānāvisayatve


 sati aparokşatvam ’?

b) How is it different from the preceding definition of
jnānāvisayatvam


?

c) Of the two definitions mentioned above, which one
do you think is tenable and why? 5+3+7=15

1Ð „þV òKþy˜y!î¡ìëûöìc ¢!“þ xþ™öìîûyÇþc›äóéôôôé~£z œÇþöì’îû xhsþ†Å“þ
òxþ™öìîûyÇþc›äó þ™öì”îû xíÅ „þ#Ú

…V Kþy˜y!î¡ìëûcîû*þ™ þ™)öìîÅîû œÇþ’ ££zöì“þ xyöìœy‰þÄ œÇþ’!Ýþ „þ# xöìíÅ
ßþº“þsþfÚ

†V vþzþ™ë%Å_« ”%£z!Ýþ œÇþöì’îû ›öì•Ä ö„þy˜!Ýþöì„þ “%þ!› ë%!_«ë%_« î!œëûy
›öì̃  „þîû ~î‚ ö„þ˜Ú 5+3+7=15

Or / xíîy

2. a) Compare the following two definitions of
svaprakāśa  – ‘ vyavahāravisayatve


 sati

jnānāvisayatvam


’ and ‘avedyatve sati
aparoksavyavahāravisayatvam

 
’.
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b) Is there any difference between the two? Discuss.
10+5=15

2Ð „þV òîÄî£yîû!î¡ìëûöìc ¢!“þ Kþy˜y!î¡ìëûc›äó ~î‚ òxöìî”Äöìc ¢!“þ
xþ™öìîûyÇþîÄî£yîû!î¡ìëûc›äóéôôôéßþº²Ì„þyöìŸîû ~£z ”%£z!Ýþ œÇþöì’îû
“%þœ˜y›)œ„þ xyöìœy‰þ˜y „þîûÐ

…V vþz_« œÇþ’ ”%£z!Ýþîû ›öì•Ä ö„þy˜ç ö¦þ” îû!£ëûyöìŠé !„þÚ xyöìœy‰þ˜y
„þîûÐ 10+5=15

3. a) Show that non-duality can be established by
establishing the unreality of duality.

b) Why do the Advaita Vedāntin-s  think that the
absence that occurs in the definition of unreality
cannot be delimited by any particular space or time?

10+5=15

3Ð „þV ²Ì”ŸÅ˜ „þîû öë– ÷möì“þîû !›íÄyc !¢!kþîû myîûy£z x÷ìmöì“þîû !¢!kþ
¢½þîÐ

…V x÷ìm“þöìî”y!hsþ†’ „þ# „þyîûöì’ ›öì˜ „þöìîû˜ öë !›íÄycœÇþöì’îû
‡Ýþ„þ#¦)þ“þ x¦þyî ö”Ÿ!îöìŸ¡ì îy „þyœ!îöìŸöì¡ìîû myîûy xî!FŠé§¬
££zöì“þ þ™yöìîû ˜yÚ 10+5=15

Or / xíîy

4. a) Why do the Advaita Vedāntin-s  think that doubt is a
prerequisite of any philosophical debate? Answer
following Advaitasiddhi.

b) If doubt is a prerequisite of any philosophical debate,
then what should be the interpretation of the
following statement of Tātparyatīka ? —

“ niścitau  hi 


vādam kurutah ” 10+5=15

4Ð „þV „þ# „þyîûöì’ x÷ìm“þöìî”y!hsþ†’ ›öì˜ „þ!îûëûyöìŠé˜ öë– ¢‚Ÿëû
”yŸÅ!˜„þ !î‰þyöìîûîû þ™)îÅyDÚ x÷ìm“þ!¢!kþ xîœÁºöì̃  vþz_îû ²Ì”y˜
„þîûÐ

…V ¢‚Ÿëû£z ë!” !î‰þyöìîûîû þ™)îÅyD £ëû– “þy£y ££zöìœ “þyêþ™ëÅÝþ#„þyéôéîû
!˜öìÁ¬y”ä•,“þ vþz!_«!Ýþîû „þ#”,Ÿ# îÄy…Äy ë%!_«ë%_« £ëûÚ éôôôé
òò!˜!Øþöì“þï !£ îy”‚ „%þîû&“þƒóóÐ 10+5=15
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